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Data sample 

Boss version 6.6.5 p01 

Date sets  

      15 Rscan data 

Exclusive MC    (ConExc) 

 
e+e− → K∗−K+π0 
e+e− → K∗−K∗+  
e+e− → K+K−π0π0 
e−e+ → ϕπ0π0 

e+e− → KSK
±π∓ 

e+e− → K±K∓π0/η       
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Event selection criteria(I) 

 Charged Tracks:  
    |Vr|<1.0  &&  |Vz|<10.0 && |Cosθ|<0.93;  
Ngood==2  ;  
 PID: 
     Kaon:  prob_K > prob_P && prob_K >  prob_𝛑;  
     Ngood ==2 :  N(K+)=N(𝑲-)=1;     
 Good Photon:  
    Ebarrel >25 MeV;  Eendcap >50 MeV ;  
    𝜽𝒎𝒊𝒏(𝛄,charge)>10∘ ;  
    0≤ TDC ≤14 ; N𝜸≥𝟒;  
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Event selection criteria(II) 

6C kinematic fit : (4γ𝑲+𝑲−)  

            constraint  a pair  𝝅𝟎 mass 
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Amplitude 
𝑲+𝑲−𝝅𝟎𝝅𝟎 
𝑲+𝑲−𝒇𝟎(𝟗𝟖𝟎) 
𝑲+𝑲−𝝈 
𝑲+𝑲−𝒇𝟎(𝟏𝟑𝟕𝟎) 
𝚽𝝅𝟎𝝅𝟎 
𝚽𝝈 
𝚽𝒇𝟎(𝟗𝟖𝟎) 
𝚽𝒇𝟐(1270） 
𝚽𝒇𝟎(𝟏𝟑𝟕𝟎) 
𝑲∗+𝑲∗− 

𝑲∗±𝑲∓𝝅𝟎 
𝑲𝟏 𝟏𝟒𝟎𝟎 𝑲 
𝑲𝟏 𝟏𝟐𝟕𝟎 𝑲 

  Phi  mass window region: 
 |M(KpKm)-1.02|<0.02 GeV   
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2.125 phi region 

6 



2.125 phi region 
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2.125 phi region 
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𝟏 + 𝜹 =
𝝈𝒐𝒃𝒔

𝝈𝑩
=
𝑩𝑾 𝒔 𝟏− 𝒙 𝑭 𝒙, 𝒔 𝒅𝒙

𝑩𝑾(𝒔)
 

𝝈𝑩 =
𝑵𝒐𝒃𝒔

𝓛𝒊𝒏𝒕(𝟏 + 𝜹𝒓)(𝟏 + 𝜹𝒗)𝝐𝑩𝒓
 

ϕ𝝅𝟎𝝅𝟎  cross section measurement 

                                                            calculation 

196.6  pb     our result  

198.9±7.3  pb                   BESIII(Xiaolin) 
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2.125 None phi region 
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2.125 None phi region 
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2.125 None phi region 
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